

C/o Burman & Stephonsen Street

C/o Burman & Stephonsen Street

Deal Party
Port Elizabeth
6000

Deal Party
Port Elizabeth
6000



041 486 3222

041 486 3555

Wilhelm@lrsa.co.za

Liquor Runner Port Elizabeth

Http://www.lrsa.co.za

GRV for Diageo South Africa - LRSA NR: 7322 (GRV)

Receiver:	Xolela	Receive Date:	2025-01-20
Checker:	Xolela	WarehouseRecv:	Port Elizabeth
Warehouse	Clairwood	Sender Ref 1:	1055389173/DN11/PE2IBT
Sender Ref 1:	1055389173/DN11/PE2IBT	Sender Ref 2:	64392

SKU Code	Stock Description	Bin	Batch Number	QTY(Cases)	QTY(Units)
Stock Received					
778831	DON JULIO REPOSADO (6 X 750ML)		L4217D1003	48	288
778831	DON JULIO REPOSADO (6 X 750ML)		L4244Z5001	1	6
778831	DON JULIO REPOSADO (6 X 750ML)		L4217D1004	13	78
784234	DON JULIO ANEJO (6 X 750ML)		L4255D1001	5	30
782594	VAT 69 (12 X 750ML)		L43491F001	48	576
782594	VAT 69 (12 X 750ML)		L50111F001	47	564
782594	VAT 69 (12 X 750ML)		L43221F001	45	540
782594	VAT 69 (12 X 750ML)		L43491F002	560	6720
789359	GORDONS DRY GIN 750ML (12 X 750ML)		L43531J001	325	3900
778831	DON JULIO REPOSADO (6 X 750ML)		L4280D1002	120	720
760014	SMIRNOFF PINEAPPLE CRANBERRY and LEMO (L43621F001	150	1800
				1,362.00	15,222.00
			Total QTY Received	1,362.00	15,222.00

Checked By: XOLELA [Signature]
 Transport Company: LR own

Receiver: JBK129FS
Checker: MOSES MTSHAISA
Driver Signature: _____

LIQUOR RUNNERS

Start time: 14:31
Finish time: 14:57

Durban

T/O - 15.45

GOODS RECEIPT / ISSUE

Nº 52580

To be completed on receipt of goods from Producers, Truckdrivers or Warehouse

DRIVER NAME Moses

HIRE TRANSPORTATION CO. (If delivered by Hire Vehicle)	LR
LOAD SHEET No: <u>1055389173/51692</u>	VEHICLE REG No: <u>JBK129FS</u>

CUSTOMER <u>LR PE</u>	DATE RECEIVED <u>16/01/2025</u>
-----------------------	---------------------------------

UPLIFTNOTE

DESCRIPTION	RECEIVED		Cases Received Damaged	Units Received Damaged	REMARKS INV. NO.
	Cases	Units			
1) V&T 69 750ml	700	8P+140			
2) Smirnoff Pineapple	150	✓ 2P			
3) Cranberry & Lemon					
4) 750ml					
5) Gordons Dry Gin 750ml	325	✓ 5P			
6) Don Julio Reposado	182	✓ 1P+84			
7) 750ml					
8) Don Julio Anejo 750ml	5	✓			
9)					
10)					
11)					
12)					
13)					
14)					
15)					
16)					
17)					
18)					
19)					
20)					
PALET CONTROL: GKN	BLUE	21#1			
OTHER					
TOTAL					

NOTE: ON G.R.V. SHOW ONLY STOCK WHICH HAS PHYSICALLY BEEN RECEIVED

CHECKED ON RECEIPT BY: <u>Thobani</u>	DRIVER: <u>[Signature]</u>
TIME COMPLETED: _____	PAGE; _____ PAGE; _____

DELIVERY ADVICE (REPRINT)

Sending Plant:	DN11 Durban Warehouse Unit 3A, Clairwood Logistics Park 4092 CLAIRWOOD
Shipping Point:	LR Clairwood
Warehouse Bond Nos:	

Receiving Plant: PE2
LR PORT ELIZABETH
27 BMI INDUSTRIAL PARK
6000 PORT ELIZABETH
SOUTH AFRICA

Shipment No:
Delivery No: 1055389173
Order Number: 5704587852

Warehouse Bond Nos:

Purchase Order No:

Haulier/Vessel:

Seal No:

Goods Issue Date: 15.01.2025

Customer Delivery Date: 20.01.2025

Receiving Plant Under Bond: Yes No

Shipping Instructions:

Driver: MOSES

Sign: 

Date: 16-01-25

Material	ABV%	Quantity UoM	Batch ID SLED/BBD	Supplying Plant Under Bond
784234 Don Julio Anejo 75cl 06X01	40.00	5 ✓ CAS	L4255D1001 30.09.2029	[_] Yes [X] No
760014 Smirnf InPiCrby 75cl 12X01	30.00	150 ✓ CAS	L43621F001 06.01.2026	[_] Yes [X] No
782594 Vat 69 75cl 12X01	43.00	45 ✓ CAS	L43221F001 17.11.2029	[_] Yes [X] No
782594 Vat 69 75cl 12X01	43.00	48 ✓ CAS	L43491F001 16.12.2029	[_] Yes [X] No
782594 Vat 69 75cl 12X01	43.00	560 ✓ CAS	L43491F002 16.12.2029	[_] Yes [X] No
782594 Vat 69 75cl 12X01	43.00	47 ✓ CAS	L50111F001 13.01.2030	[_] Yes [X] No
778831 Don Julio Rpsdo 75cl 06X01 (2022)	38.00	48 cases 61 CAS 13 cases L4217D1004	L4217D1003 29.08.2029	[_] Yes [X] No
778831 Don Julio Rpsdo 75cl 06X01 (2022)	38.00	1 ✓ CAS	L4244ZS001 07.08.2029	[_] Yes [X] No
778831 Don Julio Rpsdo	38.00	120 ✓ CAS	L4280D1002	[_] Yes [X] No

DELIVERY ADVICE (REPRINT)

Sending Plant:	DNM Durban Warehouse Unit 3A Clairwood Logistics Park 4092 CLAIRWOOD
Shipping Point:	LR-Clairwood
Warehouse Bond Nos:	

Receiving Plant: PE2
LR PORT ELIZABETH
27 BMI INDUSTRIAL PARK
6000 PORT ELIZABETH
SOUTH AFRICA

Shipment No:
Delivery No: 1055389173
Order Number: 5704587852

Warehouse Bond Nos:

Purchase Order No:

Haulier/Vessel:

Seal No:

Goods Issue Date: 15.01.2025

Receiving Plant Under Bond: Yes No

Customer Delivery Date: 20.01.2025

Shipping Instructions:

Material	ABV%	Quantity UoM	Batch ID SLED/BBD	Supplying Plant Under Bond
789359 75cl (2022) Gordons Dry Gin 75cl 12X01	43.00	325 ✓ CAS	29.09.2029 L43531J001 18.12.2029	[_]Yes [X]No

Declaration: We hereby declare the foregoing to be a full and true account of contents of Goods Described

Signature of sender:

Signature of receiving site:

Date: 16-1-25

Date: 20/01/25

C/o Burman & Stephonsen Street
 Deal Party
 Port Elizabeth
 6000

C/o Burman & Stephonsen Street
 Deal Party
 Port Elizabeth
 6000



041 486 3222

041 486 3555

Wilhelm@lrsa.co.za

Liquor Runner Port Elizabeth

Http://www.lrsa.co.za

GRV for Diageo South Africa - LRSA NR: 7322 (GRV)

Receiver: Xolela

Checker: Xolela

Receive Date: 2025-01-20

Warehouse

WarehouseRecv:

Sender Ref 1:

Sender Ref 2:

SKU Code	Stock Description	Bin	Batch Number	QTY(Cases)	QTY(Units)
Stock Received					
778831	DON JULIO REPOSADO (6 X 750ML)	L4217D1004	13%	62	372
784234	DON JULIO ANEJO (6 X 750ML)	L4255D1001		5	30
782594	VAT 69 (12 X 750ML)	L43491F001	182%	48	576
782594	VAT 69 (12 X 750ML)	L50111F001		47	564
782594	VAT 69 (12 X 750ML)	L43221F001		45	540
782594	VAT 69 (12 X 750ML)	L43491F002		560	6720
789359	GORDONS DRY GIN 750ML (12 X 750ML)	L43531J001		325	3900
778831	DON JULIO REPOSADO (6 X 750ML)	L4280D1002		120	720
760014	SMIRNOFF PINEAPPLE CRANBERRY and LEMO (L43621F001		150	1800
				1,362.00	15,222.00
Total QTY Received				1,362.00	15,222.00

DON JULIO L4244ZS001 = 1%

DON JULIO L4217D1003 = 48%

Khephu
JBK 128 FS

Checked By: XOLELA

Receiver:

Transport Company: LR OWL

Checker:

Driver Signature: *[Signature]*



IBT INSTRUCTION / DISPATCH NOTE
CONSIGNEE - LR PORT ELIZABETH IBT

DIASA			
<p>TOTAL QUANTITY FOR IBT: 0</p> <p>Number of Chepp: 21</p>	<p>PRINCIPAL REFERENCE NUMBER 1055389173/DN11/PE2IBT</p> <p style="text-align: center;">IBT SPECIAL INSTRUCTIONS</p>		
Transport Company:	LR Primary	Driver Name:	MOSES MTSHAISA
Expected Delivery Date: 2025-01-20		Truck Reg Nr:	JBK129FS
Transport Reference: 64392		Dispatch Date:	2025-01-16
		Dispatch Time:	15:00
Driver Signature:		LR Signature:	

No. of Seals	Received by Driver	Seal Number
1		0083961 --- 0083970
2		
3		
4		
5		
6		
7		
8		
9		
10		
11		
12		